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Mission accomplished 4.°

Look and circle the correct sentence.

2)Read and circle the correct option.

This is Timmy.
Timmy’s going

to make his bed
tomorrow in the
afternoon. He isn't
going to make

his bed today. He

isn’t going to do

his homework
today and he isn’t going to do his
homework tomorrow. Normally, Timmy
washes his face in the morning, but
today he isn’t going to wash his face!

1 Timmy b to make his bed today.

a is going to

2 He c his homework tomorrow.

a does

3 He c have a shower.

a is going to

4 He’s going to have a b in the sea.

a shower

5 Yesterday c the last day of school.

a is going to be

(1 Zach is going to walk his dog,

hair and have a bath.

clean his room, cook, brush his

"

A

2 Zach is going to walk his dog,

his hair and make his bed.

clean his room, have lunch, brush

~,

"y

3 Zach is going to walk his dog,

hair and make his bed.

clean his room, cook, brush his

Timmy isn’t going to get dressed and
he isn’t going to have a shower. He
always has a shower in the morning,
but today he isn’t going to! He’s going

® to brush his teeth and then he’s going

to have a bath but he isn’t going to
have a bath in the bathroom, he’s going
to have a bath in the sea! Why isn’t
Timmy doing anything today? Well, he
isn’t doing anything today because

_yesterday was the last day of school
~ and Timmy is on holidays at the beach!

b isn’t going to c goesto

b is going to c isn’t going to
b does c isn’t going to
b bath Cc game

bis c was




